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QUESTION 1

A physical Windows 2008 R2 Server is converted to a virtual machine using VMware vCenter Converter. 

Upon completion of the conversion and subsequent power on operation, the virtual machine fails to boot 

and the message below is observed in the Console of the virtual machine: 

STOP 0x0000007B INACCESSIBLE_BOOT_DEVICE 

Which two potential issues may be causing this boot failure? (Choose two.) 

A. An incorrect SCSI controller was selected during conversion. 

B. Incompatible software drivers were migrated into the virtual machine from the source machine. 

C. The vmdk file backing the virtual machine was thick provisioned. 

D. A snapshot was taken immediately after the conversion completed. 

Correct Answer: AB 

 

QUESTION 2

An administrator attempts to create a Thick Provisioned Virtual Disk (VMDK) on an NFS datastore; but it 

fails. 

Which two reasons would explain the failure? (Choose two.) 

A. Datastore is on an NFS 3 storage server that does not support Hardware Acceleration 

B. Datastore is on an NFS 4.1 storage server 

C. Only VMFS datastores support "Thick Provisioned" VMDK 

D. The NFS datastore was not created on a "Thick Provisioned" device 

Correct Answer: AB 

 

QUESTION 3

Refer to the Exhibit. An administrator has been given requirements to configure vMotion for a new virtual machine. The
configuration should: Provide Network Redundancy Use VLAN 550 Be secured against anyone trying to spoof
communication The vSwitch1 configuration is shown in the Exhibit. 
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Which three changes should be made to meet the stated requirements? (Choose three.) 

A. The VLAN ID must be set appropriately. 

B. The default values for MAC Address Changes and Forged Transmits must be altered. 

C. The teaming and failover adapters must be set appropriately. 

D. The Traffic Shaping configuration must be altered. 

E. The Load Balancing Policy must be set appropriately. 

Correct Answer: ABC 
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QUESTION 4

Refer to the Exhibit. An administrator is migrating a powered-on virtual machine, as shown in the exhibit. 

Which option should be selected to perform a Storage vMotion of the VM? 

A. Change storage only 

B. Change VM compute resource only 

C. Change both compute resource and storage, changing the compute resource first. 

D. Change both compute resource and storage, changing the storage resource first. 

Correct Answer: A 

 

QUESTION 5

Which two options can change the thin provisioned disk to thick provisioned? (Choose two.) 

A. Use vMotion to migrate the VM to another ESXi host without moving the disks. 

B. Use Storage vMotion of the running VM to the same datastore and select Thick Provision. 

C. Power off the VM, locate the VMDK disk in the Datastore browser, right-click that and select Inflate. 

D. Use Storage vMotion of the running VM to another datastore and select Thick Provision. 

Correct Answer: CD 
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